EAGRAROBREERT — 2 N— ABISH —F

202058 18H (X) 10E£R4H

méﬁ% LT 1 2 4 5R 3L (xwlw | mEmml - |5 ) w8
[A&<%] 1 7% :3,500,000  ~ 2 7&:805,000 F 3 7#&:420,000  ~ 437 :315,000 1 5 & :210,000 [
B | RE RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF [SIEH | AR | HE | NG FIB) / BE / £ENS
laliol 7=29475% o4 | BREA 1:(34).3 2-2-1-1 |37.6| — | 2 | 450 gﬁ‘f;giffﬁ%){w &)
N — - ~ T
QHIRTL TR Bk eR s SaTY O g i
olgl11|5-7 f 5 z"g%ﬁ# 1:34.9 4322 [38.1| — | 1 | 509 ﬁ%gzﬁﬁ)gf Doy
. v I
RiN=F5—9T Bi¥T—N @ S N
3l7lglT—290x 6 ;Jéﬁg?ﬂ 1:36.3 11-11-9-8 | 87.6 | — | 5 | 486 EEEE (k#)
. 7 A bk
RFLL B S ReE BiITuYIU— 7 O | X sms
ARR=EE P i 4 ?EEOEE& 1:36.4 8-7-8-6 |38.0| — 8 441 %‘E;i (&R)
: 1/2 3t
LTS TURR BT b (2 S R
517l g|F>a—kny=x i 4 géﬁgiﬁm 1:36.5 6-5-3-4 [39.6| — 6 477 ?ﬁﬁ %k#)
. 1/2 _ i
QLY KeE BIEFNG A7 (72 0| R 2
SE S [§ i 5 ;lgrgi 1:36.5 5-6-4-3 |39.5| — 3 526 Eﬁ%;ﬁ (Gictiz)
: 7E FHEE
QiHRERY BiI-SLTeU—> e @) | g7 »—
Za—UL T TILZ 5 éfisai%*é?f 1:37.3 7-8-7-5 [39.7| — | 11 | 490 ilalalgg% (&R
. 4 =
RN KRN BT “ R EE S EE A
J—TIWAFy T 5 ;*553)%5% 1:37.8  [10-10-11-11] 38.7 | — 9 | 497 ﬁﬁéz&&m(ﬁﬁ)
: 2172
R RFIZTr—R BISINTPEY @ LN e par PR
< = . CHEHE -9-10- - £H—8 (&R
IS T—H o4 | ZHZ 1:87.9 9-9-10-10 | 39.3 10 | 450 |2H—2
< . 1/2 _ FEEET
RNy v # = BYANZAMZZ— (72 -5) Eld-tie
TJTYSTILFT 6 | BEEA 1:(38).8 2-3-67 |41.5| — | 4 | 506 g%}éi (&R)
. 4 _ X7
LHIRT TR AL 8 | em=mis
TrTalT i 4 | BREA 1:40.7 1-1-4-9 | 44.0| — | 7 | 489 %E;i (#1R)
: 9
Rk IA(O— BiUTLy IR © “9) | mipmg
@ 11— F—EBIRML
13—7— 7,(5,10),11,2,8,4,1,3,6,9
25— — 7,10, (5,11),8,2,1,4,3,6,9
Jal=3r= 10,11,8,(2,7),5,4,1,9,3,6
43—F— 10,11,2,8,4,1,5,9,7,3,6
[ F/N=5
B OB 10 540 74K 10-11 150 & 8-8 230 &R 9-10-11 770H
7B 10 140M 9-10 760M B E 8-8 1904 JEH 10-11-9 4,170M
1 100M 9-11 310M B E 10-11 220M
9 230H BB 10-11 750M

ARICOVWTRDTEEERROODE. TR LI,




